Quiz - april 2024.

30 sec each question
1. What is the main difference between low malignant potential tumor and epithelial ovarian ca ?
a) stromal invasion
b) mitotic activity
c)degree of nuclear atypia
d)N/C ratio

Ans -a

2.what is the percentage of hereditary epithelial ovarian ca?
a) 0.0l

b)o.3

c)lo

d)3o. Ans: 1o

3. Which of the following cell types of ovarian ca is not associated with endometriosis?
a)clear cell

b) endometrioid

c) papillary serous

d) all of the above

Ans:c
4.most common method of ovarian ca?
a ) lymphatic
b) hematogenous
c) direct extension
d) tumor exfoliation. Ans:d

5.which is not good prognostic factor for ovarian ca?
a) younger age

b) clear cell ca

c) absence of ascites

d) debulking to no gross ascites. Ans:b

6.germ cell tumor most likely to be bilateral
a) dysgerminoma

b) mature teratoma

C) immature teratoma

d) embryonal ca. Ans :a

7.malignant germ cell tumor with worst prognosis?
a) dysgerminoma

b) yolk sac tumor

c)immature teratoma

d) non gestational chorica. Ans:b



8.1/3 rd of BRCA 1 test result may be classified as variants of uncertain clinical significance
True / false. True

9. Intraperitoneal chemotherapy regimen is having good survival rate in stage 3 ca
True/ false. True

10.serous cystadenoma is the largest benign ovarian tumor.
True / false. False



